2 HXRERBENFXFHRRUREER

= E 3 il il EEEHN)
P . 1A 4N 10A 20N 30A 50 A 100N | 200N | 300A | 500A 1000A ‘ 1A 30N
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3A 9A 19A 29N 49N 99A 199N | 299A | 499A | 999A 29A
ABF16 14 49 8 20 6 9 0 2 2 0 1 0 1 2,133 454 1,679
ABF162%F 49 9 17 10 8 0 2 1 0 1 1 0 2,100 496 1,604
ABF163 4 49 8 17 11 8 1 1 1 1 0 1 0 2,058 480 1,578
R TTE 54 7 16 17 8 2 0 2 1 0 1 0 2,245 571 1,674
TR 2% 59 9 19 16 8 2 2 0 2 0 0 1 2,360 584 1,776
L 3F 67 10 20 16 11 2 3 2 1 1 0 1 2,940 652 2,288
TERE 45 69 11 23 17 7 3 2 3 0 2 0 1 3,036 560 2,476
T 54 70 12 24 17 4 5 2 2 1 2 0 1 3,260 509 2,751
TR 64 75 14 23 18 6 5 3 3 1 1 0 1 3,171 598 2,573
TR 74 72 11 23 16 8 4 4 3 1 1 0 1 3,196 604 2,592
TRy 84 7 10 25 15 5 6 3 4 1 1 0 1 3,354 526 2,828
TR 9F 70 8 29 9 6 7 5 3 1 1 0 1 3,414 486 2,928
ER10FE 74 8 26 13 8 7 4 4 1 2 0 1 3,757 552 3,205
IERRI11E 78 7 31 12 7 7 5 4 2 2 0 1 4,034 559 3,475
ER12%F 80 7 29 14 11 5 6 3 2 2 0 1 4,192 638 3,554
ER13E 69 - 28 13 10 7 4 2 3 2 0 0 2,992 598 2,394
ERR145F 61 - 25 12 6 7 4 2 1 2 2 0 3,650 461 3,189
ERR155E 66 - 31 11 3 9 5 2 1 2 2 0 3,911 400 3,511
ER164E 62 - 26 12 6 6 5 2 1 3 1 0 3,507 485 3,022
ER17E 62 - 26 13 5 7 4 2 2 3 0 0 3,055 484 2,571
TERR18%E 63 - 23 18 7 4 4 2 2 3 0 0 3,192 573 2,619
TERR19%F 60 - 20 18 7 4 4 2 1 3 1 0 3,259 557 2,702
205 59 - 23 16 6 4 3 2 2 2 1 0 2,907 517 2,390
FR214F 56 - 21 17 4 4 3 2 3 2 0 0 2,651 468 2,183
TR224 56 - 22 14 6 4 2 3 1 3 1 0 3,017 471 2,546
TR 234 58 - 21 15 3 5 4 2 3 3 1 1 4,644 394 4,250
FRE24A4E 63 - 21 15 7 5 6 1 4 1 2 1 5.206 505 4,701
ER25%F 61 - 21 15 5 5 7 - 3 2 2 1 5132 487 4,645
TR 264 60 - 20 12 8 5 6 1 2 3 2 1 5.785 485 5,300
FERR278 73 - 23 19 5 9 7 2 2 3 2 1 6,364 517 5,847
FER284F 62 - 16 17 6 7 6 2 2 2 3 1 6,757 496 6,261
FR204 63 - 15 17 4 8 7 5 2 2 2 1 6,502 430 6,072
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T e BRm |BE-ES| o KB | A AEURRE-EHRE| /NILT K BN Rl it 2 |‘\BH-Ax| T3RFY
BFI614E 49 9 1 - 3 5 — - 3 - - 4
BFI624F 49 9 1 - 3 5 — - 3 - - 4
FBF1634 49 8 1 — 3 5 — - 3 - - 4
TR TTHE 54 9 1 2 7 - - 3 - - 4
ER 2F 59 9 1 - 2 6 — - 3 - 1 4
TRk 34 67 9 1 - 3 6 1 - 3 - 1 3
TRk 45 69 9 1 - 3 6 1 - 3 - 2 4
IRk 55 70 9 1 - 3 6 1 - 3 - 2 4
ER 65 75 10 2 — 2 4 1 — 3 1 2 6
ER 75 72 9 2 — 2 3 1 — 3 1 2 6
FEpk 8% 71 9 2 - 1 3 1 1 2 1 2 6
ER 9F 70 8 2 - 1 3 2 2 2 1 2 5
ERR104E 74 8 2 — 1 3 2 2 2 1 2 5
ER114E 78 8 3 — 1 3 2 2 2 2 2 6
ER124 80 9 3 — 1 3 2 2 2 2 1 8
ER134 69 6 3 - 1 3 1 2 1 3 1 7
FRk 144 61 6 3 — 1 2 1 2 1 3 1 4
ERR154 66 6 3 — 1 2 1 2 1 3 1 5
ER164E 62 6 3 — 1 2 1 2 1 3 1 5
ERR175 62 6 2 — 1 2 1 2 0 3 1 7
Rl 184 63 8 2 - 1 2 1 2 0 3 1 7
FERk 194 60 6 2 - 1 1 1 2 - 2 - 8
ERR204E 59 6 2 1 — 1 1 2 - 3 - 8
ER21 4 56 6 2 1 — 1 1 2 - 2 - 7
ERf 224 56 6 2 1 — 1 1 2 - 1 - 8
ERi 234 58 7 2 1 - 1 1 2 - 2 - 4
ER244F 63 7 2 1 - — — 3 - 2 - 8
ERR 254 61 6 1 1 — — — 3 - 2 - 8
ERR 264 60 6 2 1 — - - 3 - 2 - 7
ERR27 5 73 10 2 1 — - 3 2 - 5
ER284 62 5 2 1 - — — 3 - 2 - 9
ERL 294 63 6 2 1 — — — 3 — 2 - 10
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